LV PRO
silencer Ji 54
Co0d.3014129481

@ 92R - 01 10405

B-killer n.52B
Co0d.308437801

Aluminium spacer
27X8,5X11
Co0d.204321

Allen screw M8X25
T.C.Z.B.
Cod.200314

2 Allen screw M8X40
T.C.Z.B.
Cod.200993

2 Allen screw M5X12
T.B.E.I.Z.B.
Cod.201031

ART. 14267E

Carbon bracket FM4S|

Cod.307572505

Carbon cover

Cod.0814129002

NI spring tensile

Plain washer 8x24
Cod.200321

Knurled collar nut M8
Cod.200298

Carbon bracket
silencer
Cod.0814129001

Mounting plate M
Co0d.204555

N Pipe N°1078
o) Co0d.3014129201

Strap in stainless
steel @57
Co0d.300057534

2 Short helical

C0d.303949001
N°4Graphite Gasket

I\Cod.QOOCﬁ]
2 Plain washer 5x15

Co0d.406580

DUCATI MULTISTRADA 1260 - 1260 S - 1260 S D-AIR
1260 PIKES PEAK (FIT WITH ORIGINAL PANNIERS) - (FIT WITH
ORIGINAL CENTRE STAND)

SLIP-ON - LV PRO - STAINLESS S. - APPROVED



	DT-14267E
	Vista del disegno1
	Vista del disegno2


